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101. Which one of the following is the correct composition of Brass? 

(A) Cu – 50%; Sn – 50%    (B) Cu – 60%; Zn – 40%  

(C) Zn – 70%; Sn – 30%    (D) Fe – 40%; Ni- 60% 

fPo;f;fz;ltw;wpy; gpj;jisapd; rhpahd cNyhff;fyitapd; rjtPjk; vd;d? 

(A) Cu – 50% ; Sn - 50%   (B) Cu – 60% ; Zn – 40% 

(C) Zn – 70% ; Sn – 30%   (D) Fe – 40% ; Ni – 60% 

 

102. What is Phototropism? 

(A) movement of plants towards chemicals    

(B) movement of plants towards light    

(C) movement of plants towards soil    

(D) Response of plants for day length 

Nghl;Nlhl;uhg;gp]k; vd;why; vd;d? 

(A) nrbfspd; Ntjp nghUs; Nehf;fpa ,af;fk; 

(B) nrbfspd; xsp Nehf;fpa ,af;fk; 

(C) nrbfspd; kz; Nehf;fpa ,af;fk; 

(D) nrbfspd; xsp fhyj;J tpid 

 

103. Match the following: 

Tribe     Region 

(a) Masai  -     1. Angola 

(b) Saami  - 2. Kenya 

(c) Kalinga  - 3. Philippines 

(d) Bush Men  - 4. Siberia 

 

 nghUj;Jf 

 goq;Fbapdh;   gpuNjrk; 

(a) krha;  - 1. mq;Nfhyh 

(b) rhkp  - 2. nfd;ah 

(c) fypq;fh  - 3. gpypg;igd;]; 

(d) Gjh; kdpjh;fs; - 4. irgPhpah 

   

(a)    (b) (c)  (d) 

(A)   2 4 3 1 

(B)    2 1 3 4 

(C)    1 2 3 4 

(D)   4 3 2 1 

 

104. Who started Home Rule Movement in India? 

(A) Annie Besant     (B) Sathiya Moorthi    

(C) E.V. Ramasamy     (D) K. Kamaraj 

,e;jpahtpy; jd;dhl;rp ,af;fj;ij Muk;gpj;jth; ahh;? 

(A) md;dpngrd;l;    (B) rj;jpa%h;j;jp 

(C) <.tp. nghpahh;    (D) F. fhkuhrh; 
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105. Tamil Books were printed firstly by whom? 

(A) Rev Zieganbanlg   (B) Rev. Schwartz    

(C) Rev. Grundler     (D) Robert De Nobili 

Kjd; Kjyhf jkpo; Gj;jfq;fis mr;rpl;lth; ahh;? 

(A) rPfd;ghy;F Iah;    (B) Rthh;l;]; ghjphpahh; 

(C) FUz;ly; Iah;    (D) uhgh;l;b nehgpyp 

 

106. The Portuguese Sailor who reached Calicut in 1498 A.D. Was? 

(A) De Almeida     (B) Vasco da Gama   

(C) Robert Clive     (D) Albuquerque 

1498k; Mz;L fs;spf;Nfhl;ilia mile;j Nghh;j;Jf;fPrpa khYkp ahh;? 

(A) b.my;;nka;lh    (B) th];Nfhlfhkh 

(C) uhgh;l; fpist;;    (D) my;Gfh;f; 

 

107. On behalf of the Justice Party, who won and formed the ministry in 1923 

Election? 

(A) T.N. Sivagnanam Pillai   (B) P.Thiyagaraja Chettiyar  

(C) T.M. Nair      (D) M.C. Raja 

1923-k; Mz;L eilngw;w Njh;jypy; ePjpf;fl;rp rhh;ghf ntw;wp ngw;W Ml;rpia 

mikj;jth; ahh;? 

(A) T.N. rptQhdk; gps;is   (B) P.jpahfuh[ nrl;bahh; 

(C) T.M. ehah;     (D) M.C. uh[h 

 

108. The institution of Lok – Ayukta was established first in the state of  

(A) Gujarat   (B) Maharashtra   (C) Rajasthan (D) kerala 

Nyhf;-MAf;jh Kjd; Kjypy; ve;j khepyj;jpy; mikf;fg;gl;lJ? 

(A) F[uhj;     (B) kfhuh\;l;uh 

(C) uh[];jhd;     (D) Nfush 

 

109. Who said “The Directive Principle of State Policy is a Novel Feature” of the 

Indian Constitution? 

(A) K.T. Shah      (B) B.R. Ambedkar   

(C) Aladi Krishnaswamy Ayyar   (D) B.N. Rao 

,e;jpa murpayikg;gpy; ‘muR topfhl;L newpKiwf; nfhs;if Xh; 

cd;djkhd gz;G” vd;W $wpaJ ahh;? 

(A) K.T. \h     (B) B.R. mk;Ngj;fh; 

(C) Myb fpU\;zrhkp ma;ah;  (D) B.N. uht; 

 

110. The Members of the Central Administrative Tribunal are given status of Judges 

of High Court from an Amendment in the Year: 

(A) 2003   (B) 2004  (C) 2005  (D) 2006 

kj;jpa jPh;g;gha cWg;gpdh;fSf;F cah;ePjpkd;w ePjpgjpf;fhd me;j];J 

toq;fg;gl;l  rl;l jpUj;jk; Nkw;nfhs;sg;gl;l Mz;L. 

(A) 2003  (B) 2004  (C) 2005  (D) 2006 
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111. What is the aim of Pradhan Mantri Gram-Sadak Yojana? 

(A) Provide all Weather road connectivity     

(B) Provide all Weather to Tele communication connectivity 

(C) provide Food Security in all seasons    

(D) provide Education to all people 

‘gpujk ke;jphp fpuhk rlhf; Nah[dh” jpl;lj;jpd; Nehf;fk; (Fwpf;Nfhs;) vJ? 

(A) midtUf;Fk; midj;J gUt fhyq;fSf;Fk; rhiy trjpfis 

mikj;jy; 

(B) njhiynjhlh;G trjpfis midj;J gUt-fhyq;fSf;Fk; Vw;g mikj;jy; 

(C) midj;J gUt-fhyq;fspYk; czT ghJfhg;G nra;jy; 

(D) vy;NyhUf;Fk; fy;tp trjp Vw;ghL nra;jy; 

 

112. Identify the mismatch: 

(A) White revolution  - Milk 

(B) Green revolution  - Food Grains 

(C) Blue revolution  - Fish 

(D) Yellow revolution - Flowers 

jtwhd nghUj;jj;ijf; fz;Lgpbf;fTk;. 

(A) ntz;ik Gul;rp  - ghy; 

(B) gRik Gul;rp  - czT jhdpak; 

(C) ePy Gul;rp   - kPd 

(D) kQ;rs; Gul;rp  - G+f;fs; 

 

113. National Agricultural policy aims at a growth rate of ______ % per year. 

(A) 3%  (B) 4%  (C) 6%  (D) 8% 

Njrpa Ntshz; nfhs;ifahdJ Mz;Lf;F _____ rjtPj tsh;r;rpia 

Nehf;fkhf nfhz;Ls;sJ 

(A) 3%  (B) 4%  (C) 6%   (D) 8% 

 

114. Find the area of the iron sheet required to prepare a cone 24 cm high with base 

radius 7 cm 

(A) 704 cm2   (B) 702 cm2  (C) 700 cm2   (D) 668 cm2 

24 nr.kP. cauKk; mbgf;f Muk; 7 nr.kP. nfhz;l $k;G jahhpf;f Njitahd 

,Uk;G jfl;bd; gug;G fhz;f. 

(A) 704 nr.kP2  (B) 702 nr.kP2 (C) 700 nr.kP2 (D) 668 nr.kP2 

 

115. The Sum of the series 31+33+ …. +53 is 

(A) 729    (B) 341  (C) 504  (D) 604 

31 + 33+  . . . + 53 vd;w njhlhpd; $Ljy; vd;d? 

(A) 729   (B) 341  (C) 504  (D) 604 

 

116. The Value of 
92 𝑥 184

316
 is 

(A) 
2

3
   (B) 

2

3
    (C) 

𝟏𝟔

𝟖𝟏
   (D) 

32

243
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92 𝑥 184

316
 - d; kjpg;G 

(A) 
2

3
   (B) 

4

9
   (C) 

16

81
   (D) 

32

243
 

 

117. The Cube root of 0.027 is  

(A) 3   (B) 0.003   (C) 0.03   (D) 0.3  

(0.027) d; fd %yk; 

(A) 3   (B) 0.003  (C) 0.03  (D) 0.3 

 

 

118. Given the pie chart. Obtain the pass percentage of student who passed in 1st 

Class. 

 

 

 

 

 

 

 

 

(A) 35%   (B) 30%  (C) 10%  (D) 25% 

 ,e;j vsptl;l tpsf;f glj;jpypUe;J khzth;fs; Kjy; tFg;G Njh;r;rp 

ngw;wth;fsJ tpOf;fhL vd;d? 

 

 

 

 

 

 

 

 
 

(A) 35%   (B) 30%  (C) 10%  (D) 25% 

 

119. The Crop which gets affected by pink ball worm is  

(A) Banana   (B) Wheat  (C) Mango  (D) Cotton 

,sQ;rptg;G ge;J GOthy; ghjpf;fg;gLk; gaph; 

(A) thio  (B) NfhJik  (C) kh   (D) gUj;jp 

 

120. World’s First block chain bond was launched by 

(A) Reserve Bank of India    (B) World Bank   

(C) Hong Kong Bank    (D) State Bank of India 

cyfpd; Kjy; Block chain gj;jpuj;ij mwpKfg;gLj;jpa tq;fp 

(A) ,e;jpa hprh;t; tq;fp   (B) cyf tq;fp 

(C) `hq;fhq; tq;fp    (D) ,e;jpa ];Nll; tq;fp 
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121. Which of the following programme aims at the promotion of savings among 

rural women? 

(A) Jawahar Rozgar Yojana    (B) Pradhanmantri Mahila Yojan 

(C) Rashtriya Mahila Kosh   (D) Mahila Samridhi 

gpd;tUtdtw;Ws; vj;jpl;lk; fpuhkg;Gw kfsphpd; Nrkpg;ig Cf;Ftpg;gjw;fhf 

mikf;fg;gl;lJ? 

(A) [t`h; Nuh[h; Nah[;dh   (B) g;ujhd;ke;jphp kfpsh Nah[;dh 

(C) uh\;l;hPa kfpsh Nfh\;   (D) kfpsh rkhpjp 

 

 

122. Which of the following policy brings 5 Lakh acres under Organic Farming? 

(A) Shyama Prasad Mukherji Rurban Mission    

(B) Pramaparagat Krishi Vikas Yojana   

(C) Pradhan mantri Krishi Sichai Yojana   

(D) PM Fasal Bima Yojana 

fPo; cs;s vf;nfhs;if 5 yl;rk; Vf;fh; epyq;fis ,aw;if Ntshz;ikapd; fPo; 

nfhz;L tUtJ? 

(A) \;ahkh g;urhj; Kfh;[p &h;gd; kp\d; 

(B) guk;khgufj; fhp\p tpfh]; Nah[;dh 

(C) g;ujhd;ke;j;hp f;hp\p \f;]ha; Nah[;dh 

(D) gp.vk;.ghry; gPkh Nah[;dh 

 

123. 1 Femoto is equal to ______ m. 

(A) 10-6    (B) 10-15  (C) 10-5  (D) 10-9 

1 ngk;Nlh (Femto) = ________ kPl;lh; 

(A) 10-6   (B) 10-15  (C) 10-5  (D) 10-9 

 

124. What is the value of gravitational field at the centre of the Sphere? 

(A) Zero   (B) 
𝑀𝑟

𝐺
   (C) 

𝐺𝑀

𝑟
   (D) -GM/r2 

Nfhsg; Gs;sp ikaj;jpy; GtpaPh;g;G Gyj;jpd; kjpg;G ahJ? 

(A) Rop   (B) 
𝑀𝑟

𝐺
   (C) 

𝐺𝑀

𝑟
   (D) -GM/r2 

 

125. Which of the following is sensitive to ultrasonic waves? 

(A) Man   (B) Bat  (C) Bird  (D) fish 

Nfhs xypia czUk; jd;ik ahUf;F cs;sJ? 

(A) kdpjd;  (B) ntsthy; (C) gwit  (D) kPd; 

 

126. In Higher plants the sporophytic phase is formed after growth and development 

of the Zygote point out the type of cell division involved in this growth. 

(A) Mitosis      (B) Meiosis   

(C) Amitosis     (D) Zygotic Meiosis 
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cah;tif jhtuq;fspd; ];NghNuhigl;bf; epiy irNfhl;bd; tsh;r;rp 

khw;wj;jhy; cUthfpwJ. ve;j tif nry; gphpT ,jpy; nray;gLfpwJ vd;gij 

Rl;bf;fhl;L. 

(A) ikl;lh]p];    (B) kpah]p]; 

(C) Vikl;lh]p];    (D) irNfhl;bf; kpah]p]; 

tpil : A kw;Wk; D 

 

127. Kuhne’s tube can be demonstrate the process of  

(A) Fermentation    (B) Germination of seeds  

(C) Growth of plants    (D) Aerobic respiration 

Fd;]; Foha; ve;j epfo;it ep&gpf;Fk;? 

(A) nehjpj;jy;     (B) tpij Kisj;jy; 

(C) jhtu tsh;r;rp    (D) fhw;Wila Rthrpj;jy; 

 

128. Which of the following statements regarding soil are correct? 

1. Soil is a dynamic natural element 

2. It is composed of both mineral and organic matter 

3. The Characteristics of soils depend on parent rock 

4. All the soils having a well-developed soil profile. 

(A) All are correct     (B) 1, 2 and 3 are correct  

(C) 1, 2 and 4 are correct   (D) 1, 2 and 4 are correct 

gpd;tUk; kz; Fwpj;jhd thf;fpaq;fspy; rhpahditfs; vit? 

1. kz; khWk; jd;ik nfhz;l ,aw;if fhuzp 

2. ,itfs; jhJf;fs; kw;Wk; caph; kl;Ffshy; Mdit 

3. ,itfspd; gz;G cUthd ghiwapid nghWj;Nj mikfpd;wJ 

4. midj;J kz; tiffSk; tsh;r;rpaile;j FWf;F ntl;L Njhw;wj;ij 

nfhz;bUf;Fk;. 

(A) midj;Jk; rhpNa    (B) 1> 2 kw;Wk; 3 kl;Lk; rhp 

(C) 1> 2 kw;Wk; 4 kl;Lk; rhp   (D) 1> 3 kw;Wk; 4 kl;Lk; rhp 

 

129. Who was the founder of the Thiruchenkodu Ashram? 

(A) E.V. Ramasamy Naicker    (B) Rajaji   

(C) Gandhiji     (D) C.N. Annadurai 

jpUr;nrq;NfhL Mrpukj;ij epWtpath; ahh;? 

(A) ,.nt. uhkrhkp ehaf;fh;   (B) uh[h[p 

(C) fhe;jp[p     (D) rp.vd;. mz;zhJiu 

 

130. Annamalai University was started in the year? 

(A) 1915   (B) 1929  (C) 1921  (D) 1945 

mz;zhkiy gy;fiyfofk; Muk;gpf;fg;gl;l Mz;L 

(A) 1915  (B) 1929  (C) 1921  (D) 1945 

 

131. Which congress conference was attended by Bhartiyar? 

(A) Surat Conference    (B) madras Conference   

(C) Bombay Conference   (D) Lucknow Conference 
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ve;j fhq;fpu]; khehl;by; ghujpahh; fye;J nfhz;lhh;? 

(A) #uj; khehL    (B) nrd;id khehL 

(C) gk;gha; khehL    (D) yf;Ndh khehL 

 

132. Who extended co – operation of PuliTevar? 

(A) The French  (B) The English  (C) The Portuguese (D) The Dutch 

Gypj;NjtUf;F MjuT nfhLj;jth;fs; ahh;? 

(A) gpnuQ;Rf;fhuh;fs;    (B) Mq;fpNyah;fs; 

(C) Nghh;r;RfPrpah;fs;    (D) lr;Rf;fhuh;fs; 

 

 

133. Which one of the following Parliamentary Committee is Semi – Judicial in 

Nature? 

(A) Committee on Petitions    (B) Ethics Committee   

(C) Committee on Privileges  (D) Rules Committee 

fPo;f;fz;l ghuhSkd;wf; FOf;fspy; ve;j xU FO ghjp ePjpghpghyd 

jd;ikAilaJ? 

(A) tpz;zg;gf; FO    (B) mwnewpf; FO   

(C) rpwg;Ghpikf; FO    (D) tpjpf;FO 

 

134. The Constituent Assembly of India was set up according to the proposals of  

(A) The Cripps Mission    (B) The Cabinet Mission Plan  

(C) The Mountbatten Plan   (D) The Nehru Plan 

,e;jpa murpayikg;G eph;za rig ahUila Kd;nkhoptpd; mbg;gilapy; 

Vw;gLj;jg;gl;lJ? 

(A) fphpg;]; kp\d;    (B) Nfgpdl; kp\d; jpl;lk; 

(C) kTz;l; Ngl;ld; jpl;lk;   (D) NeU jpl;lk; 
 

135. Metro Rail service is available in  

1. Chennai  2. Coimbatore 3. Trichy 4. Madurai 

(A) I Only   (B) I and IV  (C) I and II  (D) II and III 

nkl;Nuh uapy; Nrit trjp cs;s ,lk; 

1. nrd;id  2. Nfhak;Gj;J}h; 3. jpUr;rp  4. kJiu 

(A) 1 kl;Lk;     (B) 1 kw;Wk; 4   

(C) 1 kw;Wk; 2     (D) 2 kw;Wk; 3 

 

136. At the rate of interest compound interest per annum will Rs. 640 amounts to  

Rs. 7774.40 in 2 years 

(A) 8%    (B) 9%  (C) 10%  (D) 11% 

Mz;L $l;L tl;b vd;d rjtPjj;jpy; &. 640 MdJ ,uz;L Mz;Lfspy;   

&. 774.40 MFk;? 

(A) 8%   (B) 9%  (C) 10%  (D) 11% 
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137. A Circus tent is cylindrical to a height of 3 m and conical above it. If the base 

radius is 52.5 m and slant height of the cone is 53m, find the area of canvas 

required to make the tent. 

(A) 315 𝜋m2   (B) 3097.5 𝝅m2 (C) 2782.5 𝜋m2 (D) 2997.5 𝜋m2 

xU rh;f;f]; $lhukhdJ 3 kP cauKs;s cUisapd; kPJ $k;G mike;jhw; 

Nghd;w tbtj;jpYs;sJ. mjd; mbg;gf;f Muk; 52.5 kP> $k;gpd; rhAauk; 53 kP 

vdpy;> mf;$lhuk; mikf;fj; Njitahd fpj;jhd; Jzpapd; gug;igf; 

fzf;fpLf. 

(A) 315𝜋kP2     (B) 3097.5𝜋kP2  

(C) 2782.5𝜋kP2     (D) 2997.5𝜋kP2 

 

138. Complete the series 1ZA, 3YB, 6 XC, 10WD, 

(A) 14 VE   (B) 15 UE  (C) 12 VE  (D) 15 VE 

1 ZA, 3 YB, 6 XC, 10 WD, ? vd;w thpiria epug;Gf. 

(A) 14 VE  (B) 15 UE  (C) 12 VE  (D) 15 Ve 

 

139. The Product of two numbers is 1600 and their H.C.F. is 5, the L.C.M. of the 

number is  

(A) 320  (B) 1605  (C) 1595  (D) 8000 

,U vz;fspd; ngUf;fy; njhif 1600 kw;Wk; mitfspd; kP.ngh.t. 5 vdpy; 

vz;fspd; kP.rp.k _________ MFk;. 

(A) 320   (B) 1605  (C) 1595  (D) 8000 

 

140. The Principal amount triples itself at 8% per annum over a certain time. Find 

the number of years. 

(A) 20 years   (B) 25 years (C) 30 years  (D) 35 years 

xU Fwpg;gpl;l mryhdJ 8% tl;b tPjj;jpy; vj;jid Mz;Lfspy; %d;W 

klq;fhFk; vdf; fhz;f? 

(A) 20 tUlq;fs;    (B) 25 tUlq;fs; 

(C) 30 tUlq;fs;    (D) 35 tUlq;fs; 

 

141. What number should be subtracted from each of the numbers 54, 71, 75 and 99 

so that the remainders may be proportional? 

(A) 1    (B) 2   (C) 3   (D) 6 

54> 71> 75 kw;Wk; 99 vd;w xt;nthU vz;ZlDk; ve;j vz;izf; fopj;jhy; 

mjd; kPjk; rktpfpjj;jpy; ,Uf;Fk;? 

(A) 1   (B) 2   (C) 3   (D) 6 

 

142. Find the difference between simple interest and compound interest for a sum of 

Rs. 8,000 lent at 10% p.a in 2 years. 

(A) Rs. 70   (B) Rs. 80  (C) Rs. 90  (D) Rs. 100 

&. 8>000-f;F 10% tl;b tPjj;jpy; ,uz;L Mz;Lfspy; fpilf;Fk; $l;L 

tl;bf;Fk; jdp tl;bf;Fk; cs;s tpj;jpahrj;ij fhz;f. 

(A) &. 70  (B) &. 80  (C) &. 90  (D) &.100 
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143. The National fruit which is common for Philippines, Pakistan and India is  

(A) Banana   (B) Fig  (C) Mango  (D) Jack 

gpypg;igd;];> ghfp];jhd; kw;Wk; ,e;jpa ehLfspd; nghJthd Njrpa gok;  

(A) thio  (B) mj;jp  (C) kh   (D) gyh 

 

144. NREGA gives guaranteed employment for  

(A) 50 days   (B) 100 Days (C) 150 Days  (D) 200 Days 

Njrpa Cuf Ntiy tha;g;G jpl;lk; (NREGA), Ntiy cj;jputhjk; mspf;Fk; 

ehl;fspd; vz;zpf;if 

(A) 50 ehl;fs;  (B) 100 ehl;fs; (C) 150 ehl;fs; (D) 200 ehl;fs; 

 

145. The Concept of Goods and Services Tax (GST) was originated from 

(A) Canada  (B) USA  (C) Britain  (D) Germany 

nghUs; kw;Wk; Nrit thp (GST) vd;gJ ve;ehl;by; Njhd;wpaJ? 

(A) fdlh     (B) mnkhpf;f If;fpa ehL   

(C) gphpl;ld;     (D) n[h;kdp 

 

146. Golden Handshake scheme is associated with 

(A) Establishing Joint enterprises     

(B) Inviting Foreign Companies   

(C) private Investment in Public Enterprises   

(D) Voluntary Retirement 

jq;f ifFYf;Fk; jpl;lk; ,jDld; njhlh;GilaJ 

(A) $l;L epWtdq;fis cUthf;Fjy; 

(B) ntspehl;L epWtdq;fis mioj;jy; 

(C) muR epWtdq;fspy; jdpahh; KjyPL 

(D) tpUg;g Xa;T 

 

147. Which of the following scheme has the objective to skill 1 crore youth in the 

next three years? 

(A) Start up, stand up      

(B) PM Kaushal Vikas Yojana 

(C) MNREGA     

(D) Deen Dayal Upadhyaay Kaushalya Yojana 

gpd;tUk; ve;j jpl;lk; mLj;j %d;W Mz;Lfspy; xU Nfhb ,isQh;fspd; 

jpwd; Nkk;ghl;bw;fhf cUthf;fg;gl;lJ? 

(A) ];lhh;l; mg;> ];lhd;l; mg; 

(B) gp.vk;. nfsry; tpfh]; Nah[;dh 

(C) vk;.vd;.Mh;.,.[p.v. 

(D) jPd;jahs; cghj;aha; fpuhkpd; nfs\y;a Nah[;dh 

 

148. What is the basic concept of Raman Effect? 

(A) reflection     (B) incoherent scattering  

(C) Coherent scattering  (D) Refraction 
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uhkd; tpisT ve;j jj;Jtj;ij mbg;gilahff; nfhz;lJ? 

(A) gpujpgypg;G     (B) xj;jpy;yh xspr;rpjwy; 

(C) xj;j xspr;rpjwy;    (D) xsp tpyfy; 

 

149. The Epsom salt which is used as laxative is 

(A) MgSO4 7H2O     (B) CaSO4 2H2O   

(C) ZnSO4 7H2O    (D) CuSO4 5H2O 

kyk; ,sf;fpahf gad;glf;$ba vg;rk; cg;G vJ? 

(A) MgSO4.7H2O    (B) CaSO4.2H2O 

(C) ZnSO4.7H2O    (D) CuSO4.5H2O 

 

150. Match the following: 

(a) Ranthambore  -     1. Assam 

(b) Manas   - 2. Jharkhand 

(c) Nagarjuna Sagar  - 3. Andhra 

(d) Palamala   - 4. Rajasthan 

(e) Indravathi   - 5. Chattisgarh 

 

nghUj;Jf 

(a) ud;jhk;G+h;   - 1. mrhk; 

(b) khdh];   - 2. [hh;fz;l; 

(c) ehfhh;[{d rhfh;  - 3. Me;jpuh 

(d) ghyky   - 4. ,uh[];jhd; 

(e) ,e;jpuhtjp   - 5. rj;jP];fh; 

 

  (a) (b) (c) (d) (e) 

(A) 4 1 3 2 5 

(B) 4 2 1 3 5 

(C) 1 4 3 5 2 

(D) 3 1 4 2 5 

 

151. Humboldt ocean current is otherwise known as 

(A) Kuroshio current     (B) oyashio Current  

(C) Peru Current    (D) Florida current 

`k;Nghy;l; ePNuhl;lk; ,t;thwhfTk; mwpag;gLfpd;wJ 

(A) FNuh\pah ePNuhl;lk;   (B) xah\pNah ePNuhl;lk; 

(C) ngU ePNuhl;lk;    (D) GNshhplh ePNuhl;lk; 

 

152. ‘Sea Smoke’ is common in? 

(A) Equatorial region    (B) Desert Region  

(C) Atlantic Ocean    (D) Artic Region 

‘fly; Gif” rhjhuzkhf fhzg;gLtJ 

(A) G+kj;jpa Nuif gFjp   (B) ghiytd gpuNjrk; 

(C) ml;yhz;bf; Nguhop   (D) Mh;bf; gFjp 
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153. Who converted mahendra Varma I from Jainism to Saivism? 

(A) Sambandar  (B) Appar  (C) Sundarar  (D) perundevar 

Kjyhk; kNfe;jputh;kid i[d kjj;jpypUe;J irt kjj;jpw;F khw;wpath; ahh;? 

(A) rk;ge;jh;  (B) mg;gh;  (C) Re;juh;  (D) ngUe;Njth; 

 

154. Name the Chieftain who patronized Kabilar 

(A) Ay    (B) Adhiyan  (C) Pari  (D) Anji 

fgpyiu Mjhpj;J Nghw;wpa rpw;wurh; ngaiuf; Fwpg;gpLf. 

(A) Ma;   (B) mjpad;  (C) ghhp  (D) mQ;rp 

 

155. Where was the first Indian national Congress met? 

(A) Delhi   (B) Bombay (C) Calcutta  (D) Madras 

Kjy; ,e;jpa Njrpa fhq;fpu]pd; $l;lk; vq;F $baJ? 

(A) nly;yp  (B) gk;gha;  (C) fy;fj;jh  (D) nrd;id 

 

156. The Forward Block Party was started by whom? 

(A) Subash Chandra Bose  (B) Motilal Nehru   

(C) Rajaji     (D) Raja Ram Mohan Roy 

‡ghh;thh;L gpshf; fl;rp ahuhy; njhlq;fg;gl;lJ? 

(A) Rgh\; re;jpuNgh];   (B) Nkhjpyhy; NeU 

(C) uh[h[p     (D) uh[h uhk; Nkhfd;uha; 

 

157. The Idea of concurrent list was borrowed from? 

(A) British Constitution    (B) Canadian Constitution   

(C) Irish Constitution    (D) Australian Constitution 

nghJg;gl;bay; vDk; fUj;J ngwg;gl;lJ 

(A) ,q;fpyhe;jpd; murpayikg;gpypUe;J 

(B) fdlhtpd; murpayikg;gpypUe;J 

(C) mah;yhe;jpd; murpayikg;gpypUe;J 

(D) M];jphpNyahtpd; murpayikg;gpypUe;J 

 

158. In which year the parliament enacted the Official language Act? 

(A) 1955   (B) 1965  (C) 1963  (D) 1957 

ve;j tUlk; ghuhSkd;wj;jpy; mYty; nkhop rl;lk; ,aw;wg;gl;lJ? 

(A) 1955  (B) 1965  (C) 1963  (D) 1957 

 

159. When was the “Industrial finance Corporation of India” established in india? 

(A) January 1,1950     (B) July 1, 1948   

(C) June 5, 1951    (D) May 1, 1950 

‘,e;jpa njhopy; epjpf;fofk;” ,e;jpahtpy; vg;nghOJ Vw;gLj;jg;gl;lJ? 

(A) [dthp 1> 1950    (B) [_iy 1> 1948 

(C) [_d; 5> 1951    (D) Nk 1> 1950 
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160. Which is the biggest nationalized enterprise? 

(A) Bharat Sanchar Nigam Limited  (B) Indian Post Department 

(C) Indian Railways   (D) oil and natural Gas Commission 

kpfg;nghpa nghJj;Jiw epWtdk; vJ? 

(A) gp.v];.vd;.vy;. (BSNL)   (B) ,e;jpa mQ;ry; Kiw 

(C) ,e;jpa uapy;Nt Jiw   (D) vz;nza; vhpthA epWtdk; 

 

161. In How many years will sum of Rs. 1600 amount to Rs. 1852.20 at 5% per 

annum compound interest? 

(A) 3    (B) 4   (C) 5   (D) 6 

&. 1>600 MdJ 5% Mz;L $l;L tl;b tPjk; nfhz;L vj;jid Mz;Lfspy; 

&. 1>852.20 fpilf;Fk;? 

(A) 3   (B) 4   (C) 5   (D) 6 

 

162. Simplify [−
1

3
] - {1 ÷  (

2

3
 𝑥 

5

7
) +  8 − [5 − 

1

2
−  

1

4

̅̅ ̅̅ ̅̅ ̅
]} 

(A) 2
21

60
   (B) -5

𝟒𝟏

𝟔𝟎
  (C) 5

41

60
   (D)-2

21

60
 

RUf;Ff: 

[−
1

3
] - {1 ÷  (

2

3
 𝑥 

5

7
) +  8 −  [5 −  

1

2
−  

1

4

̅̅ ̅̅ ̅̅ ̅
]} 

(A) 2
21

60
   (B) -5

41

60
  (C) 5

41

60
   (D)-2

21

60
 

 

163. Find the G.C.D of a3 – 1 and a2 - 1 

(A) a2 - 1  (B) a2 + 1  (C) a3 - 1  (D) a - 1 

a3 – 1, a2 - 1-,d; kP.ngh.t. fhz;f. 

(A) a2 – 1  (B) a + 1  (C) a3 – 1  (D) a-1 

 

164. What percent is 5 grams of 1 kg? 

(A) 5%    (B) 1%   (C) 0.5%  (D) 0.2% 

1 fpNyh fpuhkpw;F 5 fpuhk; % vd;d? 

(A) 5%   (B) 1%   (C) 0.5%  (D) 0.2% 

 

165. If 
𝑎+𝑏

𝑐
=  

𝑏+𝑐

𝛼
=  

𝑐+𝑎

𝑏
= 𝑘, Then the value of k is 

(A) 0    (B) 1   (C) 2   (D) a+b+c 
𝑎+𝑏 

𝑐
 =

𝑏+𝑐 

𝑎
=  

𝑐+𝑎 

𝑏
= 𝑘 vdpy; k d; kjpg;G  

(A) 0   (B) 1   (C) 2   (D) a + b + c 

 

166. The ration of boys to girls in a class is 4:5. if the number of boys is 20, then the 

number of girls is  

(A) 15    (B) 20   (C) 25  (D) 26 

xU tFg;gpy; khzth;fs;> khztpah;fs; tpfpjk; 4 : 5. khzth;fspd; 

vz;zpf;if 20 vdpy; khztpahpd; vz;zpf;if 

(A) 15    (B) 20   (C) 25   (D) 26 
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167. India’s First Bio – Fuel flight was operated between 

(A) Dehradun to Delhi    (B) Dehradun to Mumbai                          

(C) Dehradun to Kolkata   (D) Dehradun to Chennai 

,e;jpahtpd; Kjy; caphp-vhpnghUs; tpkhdk; ,t;tpU efuq;fSf;fpilNa 

,af;fg;gl;lJ. 

(A) Nluh^d;-nly;yp    (B) Nluh^d;-Kk;ig 

(C) Nluh^d;-nfhy;fj;jh   (D) Nluh^d;-nrd;id 

 

168. In Which of the following states, more number of people were affected by 2018 

monsoon? 

(A) Kerala     (B) Assam   

(C) Andhra Pradesh    (D) megalaya 

fPo; cs;s vk;khepyj;jpy; 2018 gUt kioapdhy; mjpf kf;fs; 

ghjpg;gpw;Fs;shfpdh;? 

(A) Nfusk;     (B) mrhk;  

(C) Me;jpu gpuNjrk;    (D) Nkfhyah 

 

169. Which among the following industries generates invisible exports? 

(A) Fishing   (B) Tourism (C) Jewellery  (D) Handicrafts 

gpd;tUtdtw;Ws; Gyg;glhj Vw;Wkjpia Njhw;Wtpg;gJ 

(A) kPd;gpb njhopy;    (B) Rw;Wyh Jiw 

(C) Mguz njhopy;    (D) iftpidg; nghUl;fs; 
 

170. Which of the following agricultural commoditiy of India gives largest interms of 

export value? 

(A) Tea       (B) Basmathi Rice 

(C) Spices     (D) Cotton 

gpd;tUk; vt;Ntshz;ik cw;gj;jp ,e;jpahtpd; mjpfkhd Vw;Wkjp kjpg;ig 

jUfpd;wJ? 

(A) Njapiy     (B) gh];kjp mhprp  

(C) eWkz %l;bfs;    (D) gUj;jp 

 

171. According to 2018 – 2019 budget report, India is at third rank in  

(A) Purchasing Power Parity (PPP)     

(B) Gross Domestic Product (GDP)    

(C) Agricultural Production    

(D) Foreign Direct Investment (FDI) 

2018-19 epjpepiy mwpf;ifg;gb gpd;tUk; vtw;Ws; ,e;jpah %d;whkplj;jpy; 

cs;sJ? 

(A) thq;Fk; jpwd; rkepiy   (B) nkhj;j cs;ehl;L cw;gj;jp 

(C) Ntshz; cw;gj;jp    (D) me;epa Neub KjyPL 

 

172. Which Currency is recently added in the currency basket of IMF? 

(A) Japanese yen     (B) Chinese yuan  

(C) Indian Rupee    (D) Brazilian Dollar 



GROUP II 2018 ANSWER KEY                                     VETRII IAS STUDY CIRCLE 
                                                                                                                  Call: 9600124042 / 9840097666 

 
VETRII IAS STUDY CIRCLE  

TNPSC Gr II Mains Exam Coaching Starts on 18th November, Sunday at 10 a.m.  
@ CHENNAI, SALEM & KOVAI 

ve;ehl;L ehzak; rkPgj;jpy; IMF-d; ehzaf; $ilapy; Nrh;f;fg;gl;lJ? 

(A) [g;ghdpd; nad;    (B) irdhtpd; Athd; 

(C) ,e;jpa &gha;    (D) gpNurpypad; lhyh; 

  

173. What happens in the reduction process? 

(A) Loss of electrons     (B) Gain of electrons   

(C) loss of hydrogen     (D) Gain of oxygen 

xLf;f tpidapy; fPo;f;fz;ltw;wpy; vd;d epfOfpwJ? 

(A) vyf;l;uhd;fs; ,og;G   (B) vyf;l;uhd;fs; Vw;G 

(C) i`l;u[d; ,og;G    (D) Mf;]p[d; Vw;G 

 

174. Galena is the ore of which of the following metals? 

(A) Silver   (B) Lead  (C) Gold  (D) iron 

fyPdh vd;gJ fPo;f;fz;ltw;wpy; cs;s ve;j cNyhfj;jpd; jhJg; nghUs;? 

(A) nts;sp  (B) fhhPak;  (C) jq;fk;  (D) ,Uk;G 

 

175. A Preparation of Living (or) killed micro – organism (or) viruses used in 

prevention of disease through immunization is called 

(A) Toxoid   (B) Vaccine  (C) Viremia  (D) Anti – toxin 

capUs;s (m) capuw;w Ez;zpa caphpdq;fs; (m) itu];fis ek; clypDs; 

nrYj;jp ekf;F vjph;g;G rf;jpia cUthf;Ftjw;F vd;d ngah;? 

(A) lhf;rha;L  (B) jLg;G Crp (C) tphpkpah  (D) vjph;-er;R 

 

176. The source of energy in any eco – system are  

(A) osmotrophs  (B) Autotrophs (C) Lithotrophs (D) Hetrotrophs 

#o;epiyapaypd; Mw;wypd; Kf;fpa Mjhuk; 

(A) M];Nkh kz;lyk;   (B) Ml;Nlh kz;lyk; 

(C) xsp kz;lyk;    (D) ntt;NtW kz;lyk; 

 

177. The Acid Rain Destroys the Vegetation, because it contains 

(A) Nitrates      (B) Ozone   

(C) Carbon Monoxide    (D) Sulphuric Acid 

mkpy kioahdJ midj;J jhtuj;ijAk; mopf;Fk; jd;ikAilaJ vdpy; 

mjpy; mlq;fp cs;sit 

(A) iel;Nul;     (B) XNrhd; 

(C) fhh;gd; Nkhdhf;irL   (D) ry;g;A+hpf; mkpyk; 

 

178. Name of the place where the River Ganga and Yamuna Joins? 

(A) Allahabad  (B) Hyderabad (C) Delhi  (D) Agra 

fq;if MWk;> aKid MWk; re;jpf;Fk; ,lj;jpd; ngah; vd;d? 

(A) myfhghj;     (B) i`juhghj; 

(C) nly;yp     (D) Mf;uh 
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179. Name the dam constructed across the River Sutlej 

(A) Hirakud dam     (B) Bakra Nangal Dam   

(C) Kosi Dam     (D) Mettur dam 

rl;y[; Mw;wpd; FWf;Nf fl;lg;gl;Ls;s mizapd; ngah; vd;d? 

(A) `puhFl; miz    (B) gf;uh - eq;fy; miz 

(C) Nfhrp miz    (D) Nkl;̂ h; miz 

 

180. In which year Madras Mahajana Sabha was started? 

(A) 1881   (B) 1882  (C) 1883  (D) 1884 

ve;j Mz;L nrd;id kfh[d rig Njhw;Wtpf;fg;gl;lJ? 

(A) 1881  (B) 1882  (C) 1883  (D) 1884 

 

181. Where was the first nuclear reactor of Asia established? 

(A) People’s Republic of China   (B) Japan    

(C) Taiwan     (D) India 

Mrpa fz;lj;jpy; KjyhtJ mZ ciy vq;F epWtg;gl;lJ? 

(A) kf;fs; rPdf; FbauR   (B) [g;ghd; 

(C) ijthd;     (D) ,e;jpah 

 

182. Who assumed the title “Chitrakara Puli” 

(A) Rajaraja I      (B) Narshima I  

(C) Mahendra Varman I   (D) Nandhi Varman 

‘rpj;jpufhu Gyp” vd;w tpUJ ngah; #l;lg;gl;l kd;dh; ahh;? 

(A) Kjyhk; uh[uh[d;   (B) Kjyhk; eurpk;kd; 

(C) Kjyhk; kNfe;jpu th;kd;   (D) ee;jp th;kd; 

  

183. Which Act Provided provincial Autonomy to India? 

(A) Rowlatt Act - 1919     

(B) Minto – Morley Reform Act - 1909    

(C) The Government of India Act – 1935 

(D) Montagu – Chelmsford Reform Act – 1919 

ve;j rl;lk; ,e;jpahtpw;F khepy Rahl;rp mjpfhuj;ij toq;fpaJ? 

(A) nusyl; rl;lk; - 1919 

(B) kpd;Nlh-khh;yp rPh;jpUj;j rl;lk; - 1909 

(C) ,e;jpa murhq;f rl;lk; - 1935 

(D) khz;NlF-nrk;]; ‡Nghh;L rPh;jpUj;jr; rl;lk; - 1919 

 

184. Whom of the following was the chief Organizer of the Revolt of 1857 in Bihar 

(A) Amar Singh     (B) Kunwar Singh  

(C) Pir Ali     (D) Imaduddin 

1857k; Mz;L fyfj;jpd; NghJ fPo;f;fz;l egh;fspy; gPfhh; Gul;rpapd; 

xUq;fpizg;ghsuhf ,Ue;jth; ahh;? 

(A) mkh;rpq;     (B) fd;thh; rpq;   

(C) gPh; myp     (D) ,kj;cjPd; 
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185. Which one is not part of the Panchayat Raj? 

(A) Smiti   (B) Village  (C) Township (D) Zila Parishad 

ve;j xd;W gQ;rhaj; uh[;aj;jpy; ,y;iy? 

(A) rkjp  (B) fpuhkk;  (C) efhpak;;  (D) [py;yhghprhj; 

 

186. Which part of the Indian Constitution deals with Fundamental Duties? 

(A) Part II    (B) Part III   (C) Part IV A (D) Part V 

,e;jpa murpayikg;gpy; mbg;gilf; flikfs; ve;j gFjpapy; 

vLj;Jiuf;fg;gl;Ls;sJ? 

(A) ghfk; II  (B) ghfk; III  (C) ghfk; IVA (D) ghfk; V 

 

187. As per 2011 census the total urban population in the state of Tamil Nadu is  

(A) 27.48 million  (B) 34.95 million (C) 36.04 million (D)42.50 million 

2011 kf;fs; njhif fzf;nfLg;gpd;gb jkpo;ehl;by; efh;Gw kf;fs; njhif 

(A) 27.48 kpy;ypad;    (B) 34.95 kpy;ypad; 

(C) 36.04 kpy;ypad;    (D) 42.50 kpy;ypad; 

 

188. Which district of Tamil Nadu produces the highest output of food grains? 

(A) Villupuarm    (B) Cuddalore  

(C) Thanjavur     (D) Nagapattinam 

jkpo;ehl;by; ve;j khtl;lj;jpy; czT jhdpaq;fs; mjpfkhf cw;gj;jpahfpwJ? 

(A) tpOg;Guk;     (B) flY}h;   

(C) jQ;rhT+h;     (D) ehfg;gl;bdk; 

 

189. Area of a square is ½ hectare. The diagonal of the square is 

(A) 250 metres  (B) 100 metres (C) 50√2metres (D) 50 Metres 

xU rJuj;jpd; gug;gsT ½ Vf;fh;> vdpy; rJuj;jpd; %iytpl;lk; ______ 

MFk;. 

(A) 250 kPl;lh;  (B) 100 kPl;lh;  (C) 50√2; kPl;lh; (D) 50 kPl;lh; 

 

190. The Surface areas of two spheres are in the ration 9: 25. Then their volumes are 

in the ratio 

(A) 27:25   (B) 27:125  (C) 81: 625  (D) 729: 15625 

,U Nfhsq;fspd; Gwg;gug;gsTfs; 9 : 25 vd;w tpfpjj;jpy; cs;sJ. mtw;wpd; 

fd msTfspd; tpfpjk; 

(A) 27 : 75  (B) 27 : 125  (C) 81 : 625  (D) 729 : 15625 

 

191. A Man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the 

other he loses 10% find his gain or loss percent on the whole 

(A) Loss% = 90%  (B) Gain % = 5% (C) Loss % = 1%  (D) Loss% = 7% 
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,U iff;fbfhuq;fs; xt;nthd;iwAk; &. 594f;F xUth; tpw;whh;. ,t;thW 

tpw;wjpy; 10% ,yhgKk; kw;wjpy; 10% el;lKk; mtUf;F Vw;gl;lJ. nkhj;jj;jpy; 

mtUf;F Vw;gl;l ,yhgk; my;yJ el;l rjtPjk; fhz;f. 

(A) el;l rjtPjk; = 90%   (B) ,yhgk; rjtPjk; = 5% 

(C) el;l rjtPjk; = 1%   (D) el;l rjtPjk; = 7% 

 

192. Simplify  
(33)

−2
 𝑥 (22)

−3
 

(24)−2 𝑥 3−4 𝑥 4−2 

(A) 7 
𝟏

𝟗
   (B) 7 

1

8
   (C) 6 

2

9
   (D) 6 

3

8
   

RUf;Ff: 
(33)

−2
 𝑥 (22)

−3
 

(24)−2 𝑥 3−4 𝑥 4−2 

(A) 7 
1

9
   (B) 7 

1

8
   (C) 6 

2

9
   (D) 6 

3

8
 

  

193. 6 men working 10 hours a day can do a piece of work in 24 days. In how may 

days will 9 men working for 8 hours a day do the same work? 

(A) 10 Days   (B) 15 Days  (C) 20 Days  (D) 25 Days 

6 Mz;fs; xU Ntiyia ehnshd;Wf;F 10 kzp Neuk; Ntiy nra;J> 24 

ehl;fspy; Kbg;gh;. 9 Mz;fs;> ehnshd;Wf;F 8 kzp Neuk; Ntiy nra;jhy; 

vj;jid ehl;fspy; mt;Ntiyia Kbg;gh;? 

(A) 10 ehl;fs;  (B) 15 ehl;fs; (C) 20 ehl;fs; (D) 25 ehl;fs; 

 

194. A can finish a job in 20 days and B can complete it in 30 days. They work 

together and finish the job. If Rs. 600 is paid as wages, then the share of A and 

B 

(A) 240, 360   (B) 300,300  (C) 360, 240  (D) 400,200 

A vd;gth; xU Ntiyia 20 ehl;fspYk;> B vd;gth; mNj Ntiyia 30 

ehl;fspYk; Kbg;gh;. ,UtUk; Nrh;e;J Ntiy nra;J> mt;Ntiyia Kbj;J    

&. 600 I> jq;fs; tUthahfg; ngw;wdh;. vdpy; A kw;Wk; B d; gq;F vd;d? 

(A) 240> 360  (B) 300> 300  (C) 360> 240  (D) 400> 200 

 

195. If the average of the values 18, 41, X 36, 31,24,37,35,27,36 is 31. Find the value 

of x. 

(A) 25    (B) 24   (C) 30    (D) 26 

18> 41> x> 36> 31> 24> 37> 35> 27> 36 ,tw;wpd; ruhrhp 31 vdpy; x d; kjpg;G vd;d? 

(A) 25   (B) 24   (C) 30   (D) 26 

 

196. In which city the first Nepal – India “Think tank Summit” was held? 

(A) New Delhi (B) kathmandu (C) Dehradun  (D) Kolkata 

ve;efuj;jpy; Kjy; Neghs-,e;jpah “Think Tank khehL” eilngw;wJ? 

(A) GJby;yp     (B) fhj;kz;L 

(C) Nluh^d;     (D) nfhy;fj;jh 
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197. The campaign to create awareness among children to identify sexual abuse is  

(A) Safety is in your hands    (B) Our Safety, Our Rights  

(C) Save Child, Save Future    (D) Child Safety in police Hand 

ghypd Jd;GWj;jiy milahsk; fhz Foe;ijfspilNa tpopg;Gzh;T Vw;gl 

Nkw;nfhs;sg;gl;l gpur;rhuk; 

(A) ghJfhg;G cd; ifapy; 

(B) ek; ghJfhg;G> ek; chpik 

(C) Foe;ij ghJfhg;G> vjph;fhy ghJfhg;G 

(D) Foe;ij ghJfhg;G fhty;Jiw ifapy; 

 

198. Black revolution is related to  

(A) Fish production     (B) Coal Production 

(C) Crude Oil Production    (D) Mustard Production 

fUik Gul;rp ,jDld; njhlh;GilaJ 

(A) kPd; cw;gj;jp 

(B) epyf;fhp cw;gj;jp 

(C) fr;rh vz;nza; cw;gj;jp 

(D) fLF cw;gj;jp 

 

199. Budjet 2017 has proposed _____ as the front office for issuing passport in far 

flung areas: 

(A) Airport       (B) Telegraph Office  

(C) Post Office    (D) Railway station 

2017 epjpepiy mwpf;ifapy; njhiy J}u gFjpfspy; flTrPl;L toq;Ftjw;F 

Kfik mYtyfkhf mwptpf;fg;gl;lJ vJ? 

(A) tpkhd epiyak; 

(B) je;jp mYtyfk; 

(C) jghy; epiyak; 

(D) Giftz;b epiyak; 

 

200. The Facility announced for senior citizens in Budget 2017 – 2018 is 

(A) Aadhar enabled smart card  (B) BHIM APP  

(C) Shakthi Kendras    (D) Pension Scheme 

2017 - 2018  epjpepiy mwpf;ifapy; %j;j Fbkf;fSf;fhf mwptpf;fg;gl;l trjp  

(A) MjhUld; ,izf;fg;gl;l ];khh;l; ml;il 

(B) gp.vr;.I.vk;. nrayp 

(C) rf;jp ikaq;fs; 

(D) Xa;T+jpa jpl;lk;  

 


